Honda Accord

Year:2003-; Vol.: 2,0;
VIN:- TYPE :09.488

=Y 1. Disassemble the skid plate to
"*ﬂa A ccomponent parts.

j;J 2. Fasten the two fixation
attachments through the
apertures B on the rear car frame
with M 10x140 bolts with the
straps.

|—M1020

Fasten the front part of the skid plate to the car frame

with M 10x110 bolts with straps SD2002 (B).

Fix the standard fasteners (C).
Put the main part of the skid plate on top its front part
and fasten the rear part to the already mounted

attachments with M 10x20 bolts (D).
In the front join both parts of the skid plate with M 8x20

bolts (E).

Tighten all screw joints.

%“

M10x140

fing % o

10

100x25x50 -S42002




